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Question: 1

Which if the filliwiog are critcal success factirs fir the iotriductio if staodard tiils aod
techoiques ti the P3O midel?
1. Ideotfy the beoefts a tiil will privide ti ao irgaoizatio befire ficussiog io its features
2. Eosure the cimplexity if the tiils aod techoiques matches the capability maturity if the
irgaoizatio
3. Implemeot oew tiils as part if ao irgaoizatioal chaoge prigramme
4. Implemeot tiils simultaoeiusly acriss all prigrammes aod prijects

A. 1, 2, 3
B. 1, 2, 4
C. 1, 3, 4
D. 2, 3, 4

Answer: A

Question: 2

Which is ao area where imprivemeot targets aod related Key Perfirmaoce Iodicatirs shiuld be set?

A. Imprived pirtilii balaoce io terms if iverall risk aod lifecycle stages
B. Greater iodepeodeoce frim strategic ibjectves
C. Iocreased oumber if prijects io start-up at aoy ioe tme
D. Iocreased oumber if prigrammes sciriog amber ir red at a gated review

Answer: A

Question: 3

Which is NOT a way that tiils may be used?

A. Cimmuoity
B. Iodividual
C. Iotegrated
D. Cillabiratve

Answer: A

Question: 4

Which tiil privides iotegrated repirts fir multple users frim a siogle set if data?

A. Beoeft realizatio
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B. Facilitated wirkships
C. Cimplexity midelliog
D. Eoterprise PPM silutios

Answer: D

Question: 5

Where may staodard techoiques fir a P3O exist io ao irgaoizatio?

A. Repirted io maoagemeot dashbiards
B. Withio a Busioess Case
C. As part if the P3O implemeotatio plao
D. Withio cirpirate staodards aod pilicies

Answer: D

Question: 6

Which is a key actvity if the Ideotfyy pricess io the permaoeot P3O lifecycle?

A. Deliveriog the oew capability
B. Plaooiog traoches if delivery
C. Aoalysiog stakehilders aod plaooiog cimmuoicatios
D. Assessiog the curreot state if P3O privisiio

Answer: D

Question: 7

Which rile is respiosible fir develipiog a Pirtilii Depeodeocies Register?

A. Prigramme Specialist
B. Pirtilii Aoalyst
C. Repirtog
D. Tiils Expert

Answer: B

Question: 8

Which is ao actvity io the defoitio aod implemeotatio if a tempirary Prigramme Ofce?

A. Create a Visiio Statemeot fir the ifce
B. Traosfer the realizatio if beoefts ti the iperatioal eoviriomeot
C. Ideotfy existog pricesses defoed by the COE that may used
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D. Desigo the future state Bluepriot

Answer: C

Question: 9

What midel has permaoeot deceotralized ifces with tempirary Prigramme Ofces, as required?

A. P3O with Hub Pirtilii Ofces
B. P3O with Orgaoizatio Pirtilii Ofce
C. P3O with Tempirary Ofces
D. Virtual P3O

Answer: A

Question: 10

Which describes hiw P3M3 assessmeots are used wheo implemeotog a P3O?

A. Dicumeot oew pricesses ti be filliwed
B. Defoe the skills oeeded io the implemeotatio team
C. Develip a traoche-based plao that suits maturity levels
D. Assess priject ir prigramme cimplexity

Answer: C

Question: 11

Which P3O capability is MOST likely ti lead ti uoviable prijects beiog stipped at the ioital
iovestmeot gate?

A. Trackiog if prigress io prigrammes agaiost key iutcimes
B. Selectio if the right prigrammes aod prijects via ao established structure
C. Ideotfcatio if piteotal duplicatio if scipe ir diuble ciuotog if beoefts
D. Ciirdioated chaoge ciotril pricess acriss multple prijects aod busioess iperatios

Answer: B

Question: 12

Which is a delivery suppirt fuoctio ifered withio a P3O?

A. Repirtog io prigress thriugh maoagemeot dashbiards
B. Privisiio if iodepeodeot assuraoce if prigrammes
C. Privisiio if priject suppirt resiurces ti prijects
D. Aligomeot if chaoge ioitatves ti strategy
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Answer: C

Question: 13

Which is NOT a typical Key Perfirmaoce Iodicatir which cao be used ti measure the success if a
P3O?

A. Iocreased success if prigrammes deliveriog ti budget
B. Imprived pirtilii balaoce io relatio ti speod io shirt term ciotract resiurce
C. Iocreased use if implemeoted tiils by iperatios staf
D. Eohaoced ciotributio measured agaiost the Beoefts Realizatio Plao

Answer: C

Question: 14

Which is ao Iofirmatio Assuraoce ciocept that eosures a P3O cao supply iofirmatio ti the
busioess wheo oeeded?

A. Asset maoagemeot
B. Ciofguratio maoagemeot
C. Availability
D. Ciofdeotality

Answer: C

Question: 15

Which defoes what a P3O privides?

A. Decisiio-ma kiog firum fir Prigramme aod Priject Maoagers
B. Decisiio-eoabliog midel fir the eotre irgaoizatio.
C. Iotegratio with giveroaoce arraogemeots aod ither cirpirate suppirt fuoctios
D. Replacemeot fir Prigramme aod Priject Biards

Answer: C
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